ISU2U

AUSTRALIA

9 January 2024
INSTALLATION INSTRUCTIONS (R2)

MY22 FTRwith EBS:
TRAILER CONTROLVALVEKIT
WITH HARNESS IAL Part No: 92958961

FTR 150-260 AUTO

NOTE: To be read with latest version of Isuzu Dealer Portal Bulletin 118/23 ENG

a CAUTION: I

This EBS trailer brake control system kit is designed and developed
between Isuzu Japan, Isuzu Australia, and Bartlett Towing Solutions
specifically for ISUZU MY22 FTR 150-260 (unmodified) vehicles.
Installation must be carried out by qualified IAL/Dealer approved
technicians, programmed using the G-IDSS service tool, then tested,

and certified by an Approved Vehicle Examiner (AVE) to meet the caUtion
installation and performance requirements of VSB6 Section G2, Authorised Vehicle
Installation of Trailer Braking Controls. Examiner [AVE)

/ assessment required

CROSS-REFERENCE: IAL Part Number 92958961 = BARTLETT KIT TZ7550-10_01

E v ISUZU AUSTRALIALIMITED ABN
= 97 006 962 572
Office: 66 Foundation Road, Truganina, Victoria 3029
§ 7 Correspondence: PO Box 328, Altona North, Victoria 3025 T: (03) 9644
iy 6666 F: (03) 9644 6622
150 900 isuzu.com.au Page | 1

[




FTR MY22 9 January 2024

Trailer Air Brake Kit Installation

ISU2U

PARTS CHECKLIST -

FTR EBSTRAILER BRAKING SYSTEM UPGRADE KIT (R1)

Bartlett Part No. TZ7550-10_01

ITEM| QTY | PART NUMBER DESCRIPTION MASS
1 4 |BTU-0125 CABLE HANGER BRACKET 0.018 kg
2 1 |BTU-0130 PLATE, PBR TYPE COUPLING MOUNTING 0.177 kg
3 2 [BTU-0133 MOUNTING PLATE FOR CONNECTORS VARIOUS 0.171kg
4 1 |BTU-0572 BRACKET FOR ISUZU RELAY VALVE 0.794 kg
5 1 |BTU-0573 BRACKET TRAILER CONTROL MODULE 2.294 kg
6 1 |BTU-0619 7 PIN TRAILER SOCKET HARNESS 0.168 kg
7 1 |BTU-0645 EBS 24 V WIRING HARNESS 1.658 kg
8 1 |BTU-0760-01 TUBE IDENTIFICATION TAPE - ORANGE 0.005 kg
9 1 |BTU-0760-02 TUBE IDENTIFICATION TAPE - GREEN 0.001 kg
10 | 1 |BTU-0760-03 TUBE IDENTIFICATION TAPE - LIGHT BLUE 0.001 kg
11 1 |BTU-0760-04 TUBE IDENTIFICATION TAPE - RED 0.001 kg
12 | 1 |BTU-0911 RELAY RWD VALVE SUB ASSY 1.186 kg
13 | 1 [BTU-0912 REGULATION VALVE SUB ASSY - STRAIGHT AND ELBOW 0.592 kg

CONNECTORS
14 | 1 |BTU-0914 EBS TRAILER CONTROL MODULE SUB ASSY 3.050 kg
15 | 1 |BTU-0915 ASM CHECK VALVE SUB ASSY 0.272kg
16 | 1 |BTU-0916 AIR CHECK VALVE SUB ASSY 0.274 kg
17 | 1 |BTU-0917 BAYONET AIR BRAKE COUPLING ASSY 1.025 kg
18 | 1 |BTU-1007 @12x9 NYLON AIRBRAKE TUBING - BLACK 7120 LONG 0.418 kg
19 | 1 [BTU-1014 @8x6 NYLON AIRBRAKE TUBING - BLACK 2500 LONG 0.067 kg
22 | 60 |UCN100108 CABLE TIE 300 x 4.8 mm BLACK 0.003 kg
23 | 4 [UCN100209 WASHER, FLAT ROUND BRIGHT STEEL 5/16 x 1 X 16G, ZINC PLATED |0.006 kg
25 | 2 [UCN100379 PUSH-TO-CONNECT TEE 8 mm 0.052 kg
26 | 1 |UCN100430 ASM ELEC BRACKET 0.438 kg
27 | 1 |UCN100433 INFORMATION MODULE 0.105 kg
28 | 1 |UCN100434 3 WAY AIR UNION 0.216 kg
29 | 1 |UCN100435 HTR & A/C RELAY 0.034 kg
30 | 2 |UCN100436 PTO CONT RELAY 0.017 kg
31 | 5 |UCN100437 HEX HEAD FLANGED SCREW M6x16 LONG 0.006 kg
32 | 2 [UCN100438 HEX FLANGED NUT M6 0.004 kg
33 | 30 [UCN100439 NUT (HEX FLANGED NUT M8) 0.006 kg
34 | 20 [UCN100440 HEX HEAD FLANGED SCREW M8 x 25 LONG 0.014 kg
35 | 10 |UCN100441 HEX FLANGE HEAD SCREW M8 x 35 LONG 0.017 kg




9 January 2024 FTR MY22
I S U 2 U Trailer Air Brake Kit Installation

INSTALLATION PRECAUTIONS

Follow all standard workshop and occupational health and safety practices during the installation

GENERAL INFORMATION

Before starting this installation, thoroughly read through these installation instructions and then follow the fit-
ting sequence as described.

Check and note any existing marks or damage to the vehicle interior and exterior.
Check that the kit is complete and there are no damaged components

Take all possible precautions to avoid damage to the vehicle during fitting.
Ensure all torque specifications are followed.

Observe all safety precautions for mechanical loading bodies such as tippers and hooklifts

ABBREVIATIONS

. LHS - Left Hand Side

) RHS - Right Hand Side

. TCM - Trailer Control Module
) RV—Relay Valve

TOOLS REQUIRED

Installation should be achievable in dealership workshops using standard issue tools.

ISUZU G-IDSS Programming will be required to complete the conversion.

KIT REVISION NOTES

First Release




FTR MY22 9 January 2024 I

Trailer Air Brake Kit Installation

Mount Trailer Information Module
(TIM)

Parts Required:

ITEM 26 ASM ELEC BRACKET (1)

ITEM 27 TRAILER INFORMATION MODULE (TIM) (1)
ITEM 31 HEX HEAD FLANGED SCREW M6x16 (5)
ITEM 32 HEX FLANGED NUT M6 (2)

Left Hand Interior

1 Remove plastic dash covers LHS exposing
dash components




9 January 2024 ETR MY22

I S U 2 U Trailer Air Brake Kit Installation

2 Bolt TIM to mounting bracket using 6mm
nuts (2). ltems 26, 27, 32.

3 Install bracket to dashboard as pictured us-
ing items 31.




FTR MY22 9 January 2024

Trailer Air Brake Kit Installation I S U 2 U

4 Locate TIM Harness RHS taped to dash loom,
remove tape to separate.

5 Plug connector into TIM, secure existing loom
with cable ties.

Reinstall dash plastics.




9 January 2024 ETR MY22

I S U 2 U Trailer Air Brake Kit Installation

Install Relays

Parts Required:

ITEM 29 HTR & A/C RELAY (1)
ITEM 30 PTO CONT RELAY (2)

Left Hand Interior

1 Remove dash fuse box cover

2 Install supplied relays to the relay section
LHS of the fuse box as pictured.




FTR MY22 9 January 2024

Trailer Air Brake Kit Installation ISUZ U

Mount Regulation Valve

Parts Required:
ITEM 13 REGULATION VALVE SUB-ASSY (1)

ITEM 35 BOLT HEX FLANGE HEAD SCREW M8 x 35
LONG (2)

ITEM 20 M8 NUTS

ITEM 8 TUBE IDENTIFICATION TAPE -
ORANGE

Rear Suspension—Forward Crossmember RHS

1 Identify Park Brake Tank supply line proximal to
front suspension frame cross member RHS.
Drain Park Brake Tank prior to works to de-
pressurise lines.

2 Mount regulation valve to crossmember
A Use existing hole
B Mark and drill 9 mm hole as shown

Bolt to crossmember using M8 X 35 bolts




9 January 2024 FTR MY22

I S U 2 U Trailer Air Brake Kit Installation

Mount Regulation Valve Cont.

3 Identify 12mm Park Brake Tank Supply Line
shown pink and indicated by arrows. This
line has a single orange tape indicator at
both ends.

4 Cut Park Brake Supply line adjacent to Regu-
lation Valve, connect forward supply end of
tubing into rear most elbow of the Regula-
tion Valve assembly as shown.

5 Connect the rear cut end of the Park Brake
Supply line into the forward most elbow as
shown




FTR MY22 9 January 2024

Trailer Air Brake Kit Installation I S U 2 U

Install Park Brake Check Valve
and TCM Supply.

Parts Required:

ITEM 16 AIR CHECK VALVE SUBASSEMBLY
ITEM 28 3 WAY AIR UNION

Rear Suspension—Forward Crossmember LHS

1 Locate Park Brake Tank.

2 Remove plug from lower inlet port indicated by
Arrow A

3 Remaove lower elbow fitting and tube (marked
with two orange tape markers) see arrow B.
Disconnect the fitting from the tubing to enable
re-use of the tube.

4 Install ltem 28, 3 Way Air Union as shown (A),
use Isuzu recommended thread sealant.

5 Install Item 16 Air Check Valve Assembly as
shown (B), use Isuzu recommended thread
sealant.

10



9 January 2024 ETR MY22

I S U 2 U Trailer Air Brake Kit Installation

Zoomed in views

2 Note final mounting directions of fittings

3 Reconnect 8 mm tube into Check Valve Assem-
bly as shown.

11



FTR MY22 9 January 2024

Trailer Air Brake Kit Installation

ISU2U

Install ASM Check Valve Park
Brake

Parts Required:
ITEM 15 ASM CHECK VALVE ASSEMBLY

Rear Suspension—Forward Crossmember LHS

1 Locate Park Brake Relay Valve indicated by ar-
row B

2 Disconnect 12 mm supply tubing and fitting
from relay valve as indicated arrow A . Discard
fitting.

3 Install ASM Check Valve Assembly as shown,

use Ilsuzu recommended thread sealant.

12



9 January 2024 FTR MY22

ISUZU Trailer Air Brake Kit Installation

2 Connect free end of the 12 mm supply tubing
to the ASM check valve assembly as shown.

13



FTR MY22 9 January 2024

Trailer Air Brake Kit Installation ISUZ U

Install TCM and Relay Valve

Parts Required:

ITEM 4 BRACKET FOR ISUZU RELAY VALVE (RV)
ITEM 5 BRACKET TRAILER CONTROL MODULE (TCM)
ITEM 12 RELAY RWD VALVE ASSEMBLY (RV)

ITEM 14 EBS TRAILER CONTROL MODULE SUB ASSY
(TCM)

ITEM 35 BOLT M8 X 35

ITEM 33 NUT M8

ITEM 34 BOLT M8 X 25

Rear Suspension— Rear Crossmember
Viewed from below.

1 Install brackets for TCM and RV.

TCM Bracket—use existing crossmember fas-
teners and M8 Bolts

RV Bracket—use 1 X existing crossmember fas-
tener and 1 X M8 bolt and nut assembly

Ensure all fasteners are re-tightened.

L]

Assembled view from above

14



9 January 2024 ETR MY22

ISUZU Trailer Air Brake Kit Installation

2 Install TCM and RV assemblies using M8 nuts.
3 Ensure TCM is installed in holes indicated in
diagram.

15



FTR MY22 9 January 2024
Trailer Air Brake Kit Installation ISUZU

Plumbing Rear Tap-In

Parts Required:
ITEM 25 PUSH-TO-CONNECT TEE 8 mm (X2)
ITEM 19 ©@8x6 NYLON AIRBRAKE TUBING

ITEM 9 TUBE IDENTIFICATION TAPE - GREEN

ITEM 10 TUBE IDENTIFICATION TAPE - ORANGE

TCM Signal Line Tap - In

1 Locate Modulator Rear Circuit Valve and Rear
Signal Line marked with a single green band of
tape indicated arrow A.

2 CutRear Signal Line tube behind green band,
install 8 mm push to connect tee as shown.
Connect 8 mm air line to free leg of tee and run
across to the LHS down the inside of the chas-
sis towards the TCM at rear of vehicle.

Apply Green identification tape to end of tube
proximal to tee joint.




I 9 January 2024 ETR MY22

Trailer Air Brake Kit Installation

3

Tie off TCM Signal Line to adjoining lines at
regular intervals using cable ties.

Connect TCM Signal Line to the push to con-
nect elbow installed in TCM port 42. Apply

sin- gle band of Green indication tape close
to the elbow.

17



FTR MY22 9 January 2024

Trailer Air Brake Kit Installation

ISU2U

Park Brake Signal Tap-In
Parts Required:

ITEM 25 PUSH-TO-CONNECT TEE 8 mm
ITEM 19 @&8x6 NYLON AIRBRAKE TUBING

1 Locate Hand Brake Signal Line at Park Brake
Relay Valve, marked with single Orange tape.
Cut this Hand Brake line in position indicated by
arrow B.

2 Install 8 mm push to connect tee as shown.
Connect 8 mm air line to free leg of tee and run
across to the LHS down the inside of the
chassis towards the TCM at rear of vehicle.
Apply Orange identification tape to end of tube
proximal to tee joint.

18



9 January 2024 ETR MY22

ISUZU Trailer Air Brake Kit Installation

Run Park Brake Signal to TCM

1 Run 8mm Park Brake Signal Line along inside
of LHS chassis frame to TCM.
Connect to elbow at TCM Port 43.

2 Apply single orange identification tape to end of
tube proximal to elbow.
Cable tie Park Brake Signal Line at regular
intervals along chassis.

TCM to Relay Valve (RV) Supply

Using a short length of 8 mm tube, connect upper
elbow at TCM Port 43 to the RV Port 4 as pictured.

Apply single band of Orange tape at both ends of the run.

19



FTR MY22 9 January 2024

Trailer Air Brake Kit Installation

ISU2U

Main TCM Supply

Parts Required:
ITEM 18 312x9 NYLON AIRBRAKE TUBING
ITEM 8 TUBE IDENTIFICATION TAPE - ORANGE

Rear Suspension— Air Tank LHS

1 Run two lengths of @12 mm tubing from the 3
way union installed page 10-11 to the TCM, cut-
ting both lengths proximal to TCM.

Connect both hoses into the two free legs of the
3 way union.

2 Apply 4 strips of Orange identification tape to
both tubes.

3 Connect the two lengths of @12 mm tubing
from the 3 way union to the 3 way union in-
stalled in TCM Port 1 as shown.

Apply 4 strips of Orange identification tape to
both tubes.

20



9 January 2024 ETR MY22

ISUZU Trailer Air Brake Kit Installation

ConnectTCM to Relay Valve

Parts Required:
ITEM 18 312x9 NYLON AIRBRAKE TUBING
ITEM 11 TUBE IDENTIFICATION TAPE RED

Use short length of 12 mm tubing to connect elbow
at TCM port 21 to elbow at relay Valve port 1.

Install Control and Supply Lines

Parts Required:
ITEM 18 312x9 NYLON AIRBRAKE TUBING

ITEM 17 BAYONET AIR BRAKE COUPLING
ASSEMBLY

ITEM 10 TUBE IDENTIFICATION TAPE BLUE
ITEM Il TUBE IDENTIFICATION TAPE RED

1 Install length of 12 mm tube in elbow fitted at
TCM Port 21. Tubing should have sufficient
length to reach the intended trailer air brake
coupling position proximal to the towbar and
trailer coupling.

Apply Blue indication tape to each end of the
tube and connect free end of tube to the Male
bayonet coupling.

2 Install length of 12 mm tube in elbow fitted at
Relay Valve port 2. Tubing should have
sufficient length to reach the intended trailer
air brake coupling position proximal to the
towbar and trailer coupling.

Apply Red indication tape to each end of the
tube and connect free end of the tubing to the
Female bayonet coupling.

21



FTR MY22 9 January 2024

Trailer Air Brake Kit Installation

ISU2U

Install Control and Supply Lines
Continued.

Tie Off Supply Air Lines
Parts Required:

ITEM 1 CABLE HANGER BRACKET
ITEM 24 WASHER, 5/16 x 1 X 16G
ITEM 35 BOLT M8 x 35 LONG
ITEM 33 M8 FLANGE NUT

Locate parts listed above, bolt the cable hanger
brackets to chassis. Use factory holes on the inside
RHS chassis rails where available, or drill @ 9mm
holes as required, cable tie airlines to clips as
pictured.

Use cable ties to tie air brake coupling assembly to
rear crossmember.

22



9 January 2024 FTR MY22

ISUZU Trailer Air Brake Kit Installation

Install Electrical Harnesses

Parts Required:
ITEM 7 EBS 24 V WIRING HARNESS

ISUZU PART TRAILER CONTROL MODULE
HARNESS (Supplied in cabin)

Refer vehicle position LHS of chassis approximately
800 mm behind cabin.

Install EBS Harness

1 Identify Trailer EBS Connector shown arrow A

2 Identify CAN connector shown arrow B,
roughly 150 mm in front of EBS Connector.

3 Un-tape from loom and release connectors,
remove blanks from connectors and discard
the blanks.

4 Install EBS Harness

5 Cable tie new connections back to loom and
run the the EBS Harness down the LHS of
chassis to the rear of the vehicle, secure
harness along chassis with cable ties.

6 If a towbar is not fitted to the truck, cable tie
the Trailer EBS socket to the crossmember
closest to the intended towbar position.

7 Secure and tie up any excess harness looped
adjacent to the EBS Socket location.

23



FTR MY22 9 January 2024

Trailer Air Brake Kit Installation ISUZ U

Install Electrical Harnesses Cont.

Parts Required:

ISUZU PART TRAILER CONTROL MODULE
HARNESS

Locate Isuzu factory TCM harness Part Number
8977988370 supplied coiled up in cabin of each new
F-Series truck.

1 Un-wrap TCM Harness and connect to TCM
connector in chassis shown arrow C.

2 Run harness down the inside of LHS chassis
rail to the TCM.

3 Connect to the TCM as shown,

4 Tie up harness with cable ties along chassis and
also tie up any excess proximal to the TCM.

24



9 January 2024

ISU2U

FTR MY22
Trailer Air Brake Kit Installation

Install Electrical Harnesses Cont.

Parts Required:
ITEM 6 7 PIN TRAILER SOCKET HARNESS

1 Identify trailer harness connector taped to rear
lighting loom
2 Un-tape the connector, unplug the blanking

plug and plug in the corresponding connector
of the 7 Pin Trailer Socket Harness.

Use blanking plug to the new harness where
spare leg is present.

3 Run the harness along chassis, cable tie to
lighting harness and cable tie the socket
proximal to the intended towbar position, tie
up any excess harness and tie off.

4 Ensure sockets and couplings are secured to
rear of chassis proximal to the intended
towbar position.

Identify the following Items from the kit.

ITEM 2 PLATE, PBRTYPE COUPLING MOUNTING (1)
ITEM3 MOUNTING PLATE FOR CONNECTORS
VARIOUS (2)

ITEM 34 HEX SCREW M8 x 25 LONG(4)

ITEM 33 NUT (HEX FLANGED NUT M8)

Attach the mounting plates to the sockets and
couplings using fasteners supplied, or store safely in
the cabin.

25




FTR MY22 9 January 2024

Trailer Air Brake Kit Installation I S U 2 U

ISUZU G-IDSS Programming the Knorr-Bremse EBS Programming Section.

Isuzu EBS Trailer Brake Control System Programming Please contact the lsuzu TAS line or your Zone

(Knorr-Bremse) (FTR,FVR,FVD,FVM,FVL,FVZ,FVY) Technical Manager for support.

Note 2: Once the EBS Trailer Control Valve kit has
been installed to the vehicle (Not Programmed) the
vehicle will log a series of DTC fault codes, once the
programming procedure has been completed there
will be a EBS Recovery Procedure to be performed
and the DTC checked and cleared to complete the

programming process. Example of typical DTC's
Note: GIDSS will require a 24hr Password to access  helow.

When a Trailer Control Valve is to be fitted to the
above titled EBS Braking System Isuzu vehicles, an
EBS Trailer Control Valve Kit will need to be used and
once installed, the EBS Trailer Brake Control Valve
will need to be programmed into the Knorr-Bremse
EBS Braking Module using the GIDSS Diagnostic unit.

Step 1

ML --- | JALFVR347N7001310 @~ 3%

All DTC Al DTC Clear
« Diagnostics SRICS
» All DTC 6HK1-TC (C/Rail) DTCs (1) Status -
E:}?I‘::Tc (CrRail) P0571 Brake Switch Circuit Present =
CAN Converter (Engil
Transmission L= CAN Converter (Enaine) - No DTCs ‘
hlieon 30003300 | Allison 3000/3500 - No DTCs |
ABS ! ABS - Unable to Connect |
ABS 8 I~ ABS 8 - Unable to Connect |
C/AEBS -
T Ir ABS/ESC/AEBS - Unable to Connect ]
EBS (Knorr) " ABS/ASR - Unable to Connect
Body EBS (Knorr) DTCs (1) Status ~
Camera (VAT) = =
TR 000 alle 4] (#) od -~ stalled B ese
SRS(Denso) ; 2
17 8CM F iImmobilizer - 1 DTCs. ]
e . [ SRs(Denso) - No DTCs \
RADAR (VAT) ‘'~ 17 BCM - Unable to Connect |
Vehicle Control Modu — = .
Infor tion
e ataaont [ Vehicle Control Module DTCs (1) Status -
CAN Converter (FMS C0023 86 Stop Lamp Circuit Communication or Input Data Malfunction (VCM) Present W
Speedometer Control
Speedometer Control
#e ine 17 MIMAMORI - No DTCs |
Saved Data " CAN Converter (FMS) - No DTCs \
* Utility Functions

An All DTC Check will likely show the above Diagnostic Trouble Codes as Present. These DTC's will
change status to Not Present after the programming is completed. At the conclusion of the
programming procedure, clear all DTC’s and perform an All DTC Check

The Vehicle will likely have the above Warning Lamps llluminated.

26



ISU2U

9 January 2024

FTR MY22
Trailer Air Brake Kit Installation

G-IDSS Programming Cont.

Step 2 Select the following Menu Selections from
GIDSS to access the EBS (Knorr) Programming

83 G-IDSS - JALFVR347N7001310 - English (United States)

A &RIE 152 88 ORVED[Siold 0

1+ Bulletins
« Service Information
+:' Diagnostics
AllDTC
Engine
6HK1-TC (C/Rail)
CAN Converter (Engi
Transmission
Allison 3000/3500
Chassis
ABS
ABS 8
ABS/ESC/AE

dEBS (Knorr)
DTC

Data Display
Programming
Special Function
Module Information
Body
Camera (VAT)
Immobilizer
SRS(Denso)
17 BCM
Meter
VAT
RADAR (VAT)
Vehicle Control Modu
Information
17 MIMAMORI
CAN Converter (FMS
Speedometer Control
Speedometer Control
%] Controller Programming
Saved Data
*¢ Utility Functions

EBS (Knorr)

DTC
Data Display

Programming

Special Function
Module Infermation

= "o

Select EBS (Knorr) from the Diagnostic Menu, then Select Programming.

27



FTR MY22
Trailer Air Brake Kit Installation

9 January 2024

ISU2U

G-IDSS Programming Cont.

Step 3 Select the Upload Vehicle Configuration Data
section.

IDSs G-1DSS - JALFVR347N7001310 - English (United States)

A | RIS

i-' Bulletins
7 Service Information
+: Diagnostics
AllDTC
Engine
6HK1-TC (C/Rail)
CAN Converter (Engii
Transmission
Allison 3000/3500
Chassis
ABS
ABS 8
ABS/ESC/AEBS
ABS/ASR
EBS (Knorr)
DTC
Data Display
|3 Programming
Upload Vehicle Con
Download Vehicle C
Vehicle Configuratic
Special Function
Module Information
Body
Camera (VAT)
Immobilizer
SRS(Denso)
17 BCM
Meter
VAT
RADAR (VAT)
Vehicle Control Modu
Information
17 MIMAMORI
CAN Converter (FMS
Speedometer Control
Speedometer Control
[Z] Controller Programming
Saved Data
¢ Utility Functions

¢ R20RVDsilt £

Programming

Upload Vehicle Conﬁguration Data

Download Vehicle Configuration Data

Vehicle Configuration Data Setting

Select Vehicle Configuration Data Setting

Rl ---

28



ISU2U

9 January 2024

FTR MY22

Trailer Air Brake Kit Installation

G-IDSS Programming Cont.

Step 4 Select 'CHANGE’

e

SALEVRIMTNG001310. @) &

Al e

Timite |

" T i o s i
FATSIEPL ST S - T A SR S ——
& m Vehicle Configuration Data Setting
. Disgnostics Current Value(s)
Al OTE
Engine
BHK1-TE (CRail)
CAN Corveners (Engil
T raBARIBAN Dara rmter
Consolidated and Transmission
Chassin Auxiliary Brake
:: : Final gear ratio
Wheel Basel/ABSIASR
SSEECMEE agasiacc o
EBS (Knor) Wheel
(v} (= AxlelKick drive
Diata Diaplay Tire Diameter
e 018 Lock
B ekl Axle loadPayload

|Exhaust Brake only

6.429

5550 FVR
| without AEBS/without ACClwithout HSA
FTRIFVRIFSR
FWR

FTR

‘Without Brake Lock
FVR Wheel Base 5550 Air Sus.

FVR

AT

Tl D

« Wnility Functions

EXIT CHANGE

Typical Original Vehicle Configured Settings Select CHANGE to Perform Programming

Step 5 Request 24hr password from Isuzu TAS.

Enter password and select ‘Enter’

b GAIDSS - INLFYRIATATO0 1310 - English (United States)

[T SRl ES W RPN S

 Service Information
- Disgnostics
Al DTC

Engine
BHEI-TE (C/Rad)
CAN Convearter (Engh
Tranamission
Allison 30003500
Chaxsis
MBS
ABS &
ABS/ESCIAERS
ABSIASH
EBS (Knorr)
oTC
Data Display
Frogramming
Upload Vehiels Con

Vehicle Configuration Data Setting
Flease Entar ONE Day Password:

Passvard = |

ENTER

s } s

JALFVR347NT001310 - 2

Contact Isuzu TAS to request a 24hr Password, enter your Password and Select ENTER

29



FTR MY22

9 January 2024

Trailer Air Brake Kit Installation

ISU2U

G-IDSS Programming Cont.

Step 6 Each section indicated below will require changing in order of appearance. Example shows FVR

b GIDSS
AN

¥ ..

* Bullstine

..... e
r ol

TSN 4

EBS (Knoer)
oTC
Cata Display
Frogramming
Upload Vehicle Con
Downicad Viehicle (
¥ Vehicle Configuratic
Spacial Function
Module information |

Body
Camera (VAT
renobilizer

SAS(Denso)

17 BCN

Wetar

VAT

RADAR (VAT)
Vehicle Control Modu
Infermaton

17 MIMAMORI

CAN Convener (FMS

Saved Data
« Unility Functions

Programming Step 1
Ted G105 - JALFURIATH TN - English (United Statss)
i | e sk BRORUEDIS
¢ Bulleting

 Service Information
. I

AN DTC

¥ Vehicle Configurati
Special Function |
Maduls Information

17 MEAMOR]
CAM Converier (FMS
Spasdemater Control
Speadometer Control
¥ Controller Programming
Seved Data
+ LHility Functions

Tk O s

JALFVRI4TNTOD 1310 - English (Urited States)

RN Do b 2

Saarch
B Type here 1o search @

L - R

Vehicle Configuration

JALFVR347N7001310 @3- 38
Data Setting

Please Salect New Value(s)

New Vilue(s) Curront Value(s) -
P \idated and Transmission. AT ¥ AT J <~
RS RS S
Einglceaigto 6420 cabd2e
Wheel Base/ABS/ASR: 5550 FVR -~ 5550 FVR
Whesl FTRIFVRFSR - FTRIFVRIFSR
Axie'Hick drive: FVR - FVR
Tire Diameter. FTR “| FTR

Brake Lock: Without Brake Lock

« Wihout Brake Lock

JAode load Pavioad: FVR Wheal Base 5550 Air Sus - F\E Wheel Base 5550 Air Sus
Evac, VR TR <:|

hoir = 4

Vahicle Configuration Data Setting

Please Select New Velue(s)

g

Hiow Valueis] Cuarrent Waluais)
Censcldeted and Transmizsion § AT “JAT
Aunitary Brake | AMT(Smaocthar) Exhaust Brake onty
Einal gear ratia AT
W hesl Base/ABSASRE J Full Traier MT 5550 FviR
aessmocHsa QAL withaut AE BSwthodt ACC/wihou! HSA
Whesl: FTRIFVRFSR ~ FTRIFVAFSR
AxlelKick drive FWR - FVR
Tira Diamnater FTR ~ FTR
Brake Lock: Without Brake Lock Without Brake Lock
Auxde load/Payload . FWR Wheel Base 5550 Air Sus = FWR Wheef Base 5550 &r Sus
EVSC: FVR = FvR

.}

P>

Figure 8 PROGRAM THIS SELECTION THEN PROCEED NOTE: You will need to restart the programming
again and re-enter the 24hr Password to move back to be able to change the next data item.

NOTE: At times during the programming phase, GIDSS may indicate that the Programming Failed. If so
re-check that data item was changed and if not reselect the programming item and try again.

30



9 January 2024 ETR MY22

Trailer Air Brake Kit Installation

ISU2U

Programming Step 2

055 G-1DSS - JALFVR347N7001310 - English (United States)
A0 LRI sk RN D Fol b = e B )

& Dediesine ! Vehicle Configuration Data Setting
- S-Geree |n'm|°ﬂ

- X
JALFVR347N7001310 Q- s

. Diagnesties Please Select New Value(s)

All DTC

Engine

6HK1-TC (C/Rail)
CAN Converter (Engii
Transmission

Fe New Value(s) Current Value(s)
cAﬁh.: * Consolidated and Transmission: Full Trailer AT ~|AT
ABS 8 Auxiliary Brake: Exhaust Brake only ~ Exhaust Brake only
Aﬂsﬁgﬂ\ﬁﬂs Final gear raticfoeee 6429
‘E':ss"m,m, Wheel Base/ABS/ASR] 5550 FVR Full Trailer 5550 FVR
oTC AEBS/ACC/HSAY 5050 FVR Full Trailer ~§ without AEBS/without ACC/without HSA
i e B Rt FraFvRrsn
Upload Vehicle Con Axie/Kick drive FVR
et o [
Special Fum:t&ol] | Brake Locdl 250 FVR Full Trailer Without Brake Lock
B:f;"“"’ Mphexmenns Axle load/Payload] B500 FVR Ful Trailer FVR Wheel Base 5550 Air Sus
5060 FVZ
Camera (VAT) EVSQY 5250 Fvz v
;';':[""“' y 5550 FVZ
5950 FvZ
17 BCM 6150 FVZ Choose from the dropdown box the
Meter
6550 FVZ . .
R rD 6650 FVZ appropriate wheelbase/model with
Vehicle Control Modu 80 Fve Full Trail
Information 7120 FVZ ull frailer.
i i
GAN Comanic V8 sl il THEN SELECT THE PROGRAM
5950 FVZ Full Trailer
‘Speedometer Control
| Controlier Programming 6150 FVZ Full Trailer BUTTO N
Saved Data 6550 FVZ Full Trailer
« Wtility Functions 6650 FVZ Full Trailer
6850 FVZ Full Trailer
7120 FVZ Full Trailer J

Table Of Contenis | Search ABORT PROGRA

£ Type here to search

9B <

PROGRAM THIS SELECTION THEN PROCEED

NOTE: You will need to restart the programming again and re-enter the 24hr Password to move on to
change the next data item.

Programming Step 3

15 G-I05S - WWFYRI4TNTO0 310 - Englich (United Slates)

sk @00 Dlsalt 2= ol — :
Vehicle Configuration Data Setting
Please Sslact New Valus(s)

- A x

JALFVRIATNTO0310 €)- 34

EHI1-TC (C/Rail)
CAN Converier (Engl
Transnssion e ishuefs] Curreat Vahm(s]
Allenan 3000/2500 " e
c‘;;;"‘ Consoldated and Transmission: Full Trailer AT = AT
ABS & Auxiiary Brake: Exhaust Brake only = Exhaust Brake only
ABSESC/AERS Final gear ratio; 6429 ~ B429
ABSIASR
EBE (Htrarr) Wheel Base/ABSIASR. 5550 FVR Full Trafer v 5550 FVR
oTC AEBS/ACCHSA: without AEBSiwithout ACCwithout HSA - withaut AEBSwithout ACCAwthout HS A
o D
= “r..::i:.; Whesl: FTREVRIFSR - FTRIFVRFSR
Upiond Viehicis Cor AulefKick dive: FVR FVR
Download Vehicle € 5 :
¥ Viehicle Conf i Tire Diameter: FTR = FTR
Epecial Function l Brake Lock: Without Brake Lock = Wihout Brake Lock

L Axie ladFayload - FVA Wheal Base 5550 Air Sus

Camers [VAT) Evscy FVR FVR

Immobifizer FSR

ety i Choose the appropriate model with

Metar FTR .

vat ey Full Trailer.

el F\Z Eull Trader

ermetien VR Cul ok THEN SELECT THE PROGRAM

17 MIMAMORI ;

GAN Convertar (FMS BUTTON

Spesdometer Cantral

Spesdometer Cantrol
£ Controllsr Pragramming

Saved Data

f Utility Funeticrs




FTR MY22

9 January 2024

Trailer Air Brake Kit Installation ' S U 2 U

Programming—Check Results, Save Screenshot

F68 GADSS « IALEVRIAINTO01310 « Fnglish United States)

! 311
| )
Bulletins
~ Service Information
+ Diegnoatica
AllDTC
Engine
BHK1-TC (C/Rail)

[l X
sl BRI @D veld 2 = ™l L JALFVRIATNT001310 - &
Vehicle Configuration Data Setting

The data has baan changad

Please perform the Key OFF / ON after returning to the main screen. Please make sure that there is no DTC code,

CAN Ceonverter [Engii

Tranemiseion

Daramatar

Alligon 3000/3500 Consolidatad and Transmission ||fﬂ||€l AT —
C:;;lh Auxiliary Brake E)(l'llal.lli Brake only -
Final gear ratio 6.42! -
ARG S Wheel Base/ABSIASR 5550 FVR Full Trailer -
Aonen 2% | AEBSIACCHSA without AEBSIwithout ACC/without HSA -
E8S (Knorr) Wheel FTRIFVRIFSR z
oic ‘AlleJKich drive FVR -
Data Display Tire Diameter FTR -
Programming Brake Lock Without Brake Lock -
gm‘:‘r'::;": | Axle load/Payload FVR Wheel Base 5550 Air Sus -
} Vehicle ¢ | Evsc FVR Full Trailer -
Special Function
Module information |
Body
pea-biaial After Programming has successfully completed, recheck that all the changed data
SRS({Densol "
wocu values are correct for your vehicle.
Meter
VAT = - - - Tt
RADAR (VAT) NOTE: A Screen shot of this page will likely be required by the AVE Certifier for
Vehicle Control Modu
Informati z . "
— evidence that the programming on the selected VIN vehicle has been per-
CANC r (FMS
St S e formed correctly.
‘Speedomaeter Contrel
" Centrellar Pregramming
Saved Dsta
« Utility Functions

Tabe OF Gomeets |, Search

£ Type here to search

Programming—Re-Check

15 G-IDSS - IALPVRI4TNTAO 310 - Brglish (United States]

oy 1 1EIE)

+ Sarvics Information

= Diagnostics

¥ AN DTC
Engina
BHK1-TC (CiRail)
CAN Converter (Engii
Transmizzion
Adlison 300043500
Chassis

ABS

ABS &
ABS/ESCIAERS
ABSIASR

Downlosd Vehicle {
Vehiels Configurati
Special Function

Module Information |

Body

Camera (VAT
Immmobilizer
SRS{Dens=a)

17 BCM

Maiar

VAT

RADAR {VAT)
WVehicie Contrel Medy

|labke A Contmms | Sewrch

P Type here to search

= i e

@it 2 = el JALFVRMTNTO01310 - 14

AllDTC All DTC Clear
307Cs

| 6HK1-TC (C/Rail} DTCs (1)
PO571 Brake Switch Circuit

Status -
Not Present W
DTC Clear

CAN Converter (Enainal - No DTCs

ABS 8 - Unabla lo Connect

" ABS/ESCIAEBS - Unable to Connacl
“* ABS/ASR - Unable to Connect
| EBS (Knorr) DTCs (1)

& iter Control Module

" Immabilizer - 1 DTCs
SRS(Densc) - No DTCs

17 BCM - Unable to Connect 1

" WAT - Unable to Connact |

= Vehicle Control Module DTCs (1

0o

A6 LT LT

17 MIMAMORI - No DTCs
CAN Convertar ([FMS) - No DTCs

Recheck the ALL DTC’s page and determine if all previous DTC’s have changed their status
to Not Present. Clear ALL DTC’s.

NOTE: IT IS RECOMMENDED THAT A “RECOVERY WORK FROM FAILURE” procedure
is performed.

32



9 January 2024 ETR MY22

I S U 2 U Trailer Air Brake Kit Installation

Programming —Perform Recovery Work From Failure

1. Recovery work 1 from failure (Procedures by operating the brake pedal)

1) With the brake pedal released, turn OFF the ignition switch for 5 seconds or more.

2) Keep the following conditions, then turn ON the ignition switch for 7 seconds or more.

* The vehicle is stopped.
» The brake pedal is released.
» The power supply voltage to the EBS control unit is sufficient.

3) Depress the brake pedal to the full braking position and hold for 3 seconds.

Caution:

* Do not perform the pedal operation until 7 seconds have elapsed after the ignition switch was turned ON.

Perform Full System Check

Start the truck and air the system up to full pressure. Once system check is completed Call AVE or VASS

i f lia heck and bl late.
Check for air leaks using soap spray. engineerfor compliance check and biue plate

Confirm system works correctly.

System to be tested and certified by approved AVE to
meet the requirements of VSB6 Section G2

Confirm all trailer lighting is operational. Installation of Trailer Braking Controls.

Confirm EBS socket is operational and activate

diagnostic light on dash cluster.

Confirm all airlines and looms are secured.

33



FTR MY22 9 January 2024
Trailer Air Brake Kit Installation

ISU2U

PERFORM A FULL SYSTEM CHECK

o Start the truck and air the system up to full
pressure.

) Check for air leaks using soap spray.

) Confirm system works correctly.

o Confirm all airlines and looms are secured.

o Confirm all trailer lighting is operational.

o Confirm EBS socket is operational and activate

diagnostic light on dash cluster.

) Once system check is completed Call AVE or
VASS engineer for compliance check and blue
plate.

o System to be tested and certified by approved
AVE to meet the requirements of VSB6 Sec-
tion G2 Installation of Trailer Braking Controls.

34



FTR MY22

Trailer Air Brake Kit Installation

9 January 2024

ISU2U

i

)

(440 RENdINS/d

1235/ T
{1 Hd |
o KBS WV I/S5 A/ B9 _

{ 235 Idd

Il

IN

1IN2™ID S83 ¥3TIVYl d1ld ¢CAIN

SHOILMTOSDMNIMOLAILYHDI LNI

LiF7i1a9VvVa

35



	CROSS-REFERENCE: IAL Part Number 92958961 = BARTLETT KIT TZ7550-10_01
	Mount Trailer Information Module (TIM)
	Left Hand Interior

	Install TCM and Relay Valve
	TCM Signal Line Tap – In
	Parts Required:
	Rear Suspension— Air Tank LHS


